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Answer

3 hrs 28 mins = 2 hrs [_Imins
A bag of coal weighs 40g, 4kg or 40kg? l.
What four coins make €2.35?

It takes Brian 5 minutes to run 1 kilometre.

How far will he run in wm: hour?

5. Put these in order, smallest first: 1-8, 0:8, 8.

6. How many months in 10 years?

7. If a spoonful of medicine holds Sml,

how many spoonfuls will | get from a bottle which
holds 75ml?

8. What is the perimeter of a regular hexagon
where one side measures 12cm? lecm
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9. If swimming costs €5 for adults and mm.m_n_un,.“:w:__aa?
how much will it cost for 1 adult and 2 chi X
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10. What nUmber.is. SOV eIt 0 e
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1. What is the next term: 1, 12, 2,22, _ ?

2. 1L 500ml = I millilitres
3. Which is not an isosceles triangle?

An isosceles
triangle (d)

(c)
(b)

4. 10 markers cost €3. What is the cost of one?
5. Add together all the obb numbers between 24 and 28.
6. What is the value of the 5 in 58-2? |
7. If a cup of tea costs €1.20 and biscuits 30c each,
how much will 2 teas and two biscuits cost?
. 2-02=[1(0,180r18) i |

m __
w.>mﬁmﬁco<<m6:mAmom_mmmﬁ:m:;@.E:m:m:m Emﬁ:ﬁ._
0. The perimeter of a rhombus is 36cm.

What is the length of one side?

Rhombus
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_ﬂ is ﬁ:m same as 1-1, 1-2 or 1:57

5% 5 x [Eili=125
What is the value of the 8 in 25-87
If Mum drives at 100km per hour,
how long will it take her to drive moxBo
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Put in order of size, smallest first: 16, ._ \ 10, .0 el
Add: 170, 300, 30.
How many of these

isosceles triangles will fit in this ooﬁmuo:o

This magic square adds up to 30
in each direction. Complete.
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Bilne

A child in 4th class might be 1m 40c
e
The perimeter of an equilateral tria il e moo:,_ tall?

_m:mﬁ: of one side? | ngle is 30cm. What is the




Answer

_ Put these in order, smallest first: im. , 1:2, 0-8.
. What change will | get from €2 if | buy
30 sweets at 5¢ each?

_ What number is shown on the abacus?
. 10 markers cost €3.

What is the cost of 4 markers?

. 1:3 + 0:[j=4

. Atrain travels at 90km per hour.

How far will it travel in half an hour?

. The Amazon river is six thousand, four hundred and

:_:ox__oam:mm_o:@.Eq_ﬁmﬁzm_:m@:.am.
._::mvmlaoﬁmqoﬁmqomc_m_._‘_mxm@o:_m moo_.? _
what is the the length of one side? |
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Draw an axis of symmetry in this shape.
l.
vertical axis of symmetry a
15
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Score

. What is the missing number: 996
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0, 9970, __, 99907




Answer

g Which triangle has a right angle?
v ) (c) k:

9. Awoman is 1m 60cm tall. What is her height in centimetres?
3. How many complete teams can | make from 45 children?
4, What change will | get from €2 if | buy

3 copies at 35¢ each?

5. Fill in the boxes: ..m.u 5 HD

4 E:o_m

6. Name two things in nature which

are sphere shaped.

7. Take 0-3 from 3.
w. 105

5=10 10

- I have to be in town by 10 O o_oox |

?o journey takes 35 minutes. ___u
o When should | start? e

Complete this shape to Bmxm : symi
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